YMHOXUTH Ha JIECATH (IIPOITYIIIEHHOE YUCIIO)

Nwms:

3,478 x

3,502 x

10, 653 x

5, 081 x

4,254 x

5,746 %

9,238 x

1,255 %

5,119 x

5,61 x

= 5081

— 4254

=574.6

= 9238

=12.55

= 5119

= 561

Jara:_______ Ouemka:___
10,919 x = 10919
1,307 x = 130.7
1,971 x = 1971
7,403 % =74.03
4,761 x =47.61
8,31 x = 8310
1,767 x = 1767
8,206 x = 8206
5,453 x = 54.53
7,466 X =74.66
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YMHOXHUTB Ha JIECATH (MIPOMYIIIEHHOE YHCIIO)

Pws: Jata: ____ Ouemka:
3,478 x 10 = 34.78 10,919 x 1000 = 10919
3,502 x 10 =35.02 1,307 x 100 = 130.7
10,653 x 10 = 106.53 1,971 x 1000 = 1971
5,081 x 1000 = 5081 7,403 x 10 = 74.03
4,254 x 1000 = 4254 4,761 x 10 =47.61
5,746 x 100 = 574.6 8,31 x 1000 = 8310
9,238 x 1000 = 9238 1,767 x 1000 = 1767
1,255 x 10 =12.55 8,206 x 1000 = 8206
5,119 x 1000 = 5119 5,453 x 10 = 54.53
5,61 x 100 =561 7,466 x 10 = 74.66
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